Problem 10.35

A three-phase load impedance consists of a balanced wye in parallel with a balanced delta.  What is the equivalent wye load and what is the equivalent delta load if the phase impedance of the wye and delta are 
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Suggested Solution

Equivalent Y:


[image: image3.wmf]'

'

Y

3

D

=

Z

Z



[image: image4.wmf](

)

(

)

(

)

(

)

6354

1839

2.771.78 

6354117

total

jj

j

j

jjj

++

+

===+W

++++

Z


Equivalent 
[image: image5.wmf]D

:


[image: image6.wmf](

)

Y

332.771.788.315.34 

jj

D

==+=+W

ZZ


_1051707278.unknown

_1059847504.unknown

_1059851313.unknown

_1059851334.unknown

_1059847363.unknown

_1051707277.unknown

